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Note : This paper is of thirty (30) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section-A / Vs—dh

(Long Answer Type Questions) / (€T SR 7%H)
Note : Section ‘A’ contains four (04) long answer type
questions of seven and half (7%) marks each.

Learners are required to answer two (02) questions
only.
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1. Provethat:
curl(AxB)=(B-V)A-BdivA
~(A-V)B+AdivB
Rrg pifor o
curl(AxB)=(B-V)A-BdivA
~(A-V)B+AdivB

2. IfC=%VxE, B =V x A , then show that :

~[IJ, B2V = [[AxB-nds+[[] A-Cav

afy c%wé, B-VxA, d foagd fy :

~[IJ, B2V =2 [[AxB-nds+[[] A-Cav

3. Profit of the firm is following :

vear (izrf:fs)
1998 80
2000 86
2002 9
2004 104
2006 114

Using above data predict the profit in 2003.
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1998 80
2000 86
2002 96
2004 104
2006 114
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4. Solve the equation numerically

dy
— =2X+
dx y

with the initial conditions X, =0,y, =1 by Milne
method from (i) x =0 to x = 0.4, (ii) x = 0.2 t0 0.3.
THTPRT

ﬂ:2x+y

dx
Bl FAAGA! URMME I ¥y =0,yp =1 @ WY
fafed O 9 () x =0 ¥ x =04, (i) x =02 ¥
x=0.3 @ oIy B DIV
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Section-B / Yis—4

(Short Answer Type Questions) / (75 ITRIT U%)
Note : Section ‘B’ contains eight (08) short answer type
questions of two and half (2%) marks each. Learners

are required to answer four (04) questions only.
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1. Prove that:

1 2+ A
= —(EV2 L E-V2y
=30 )= A
2-A 52
= = |1+ —
2J1-V 4
R¥g PIvT o -
1 2+ A
= —(EV2 L E-V2y =
=50 )= A
2-A 52
2J1-V 4
2. Calculate f’(3) and f’(3) from the following :
X f ()
3 -14
3.2 —-10.032
3.4 —5.296
3.6 0.256
3.8 6.672
4 14.000
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f/(3) 3R £7(3) ¥ AT BITT

X f(x)

3 -14
3.2 —10.032
3.4 —5.296
3.6 0.256
3.8 6.672

4 14.000
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1
Evaluate Ioi using Simpson’s %rd rule.
+ X

Ry Eﬁﬁ?ﬂ@( jl ax Eb‘fﬂﬁ?ﬂﬁzlﬁﬁml

Solve :
U1 = 3*Uy
gl DI :
U1 = 3y
If F=xyi+x2k—-z] and C is curve x=t2,
y=2t,z=t3 fromt=0tot=1,evaluate :
jCder

IT F=xyi+x?k-z] AR C IF T x=t2,
y=2t, z=t3 t=09 t=1 d®, 99 &I :
jder

C
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Find the directional derivative of ¢ = Xy + yz + zx In
the direction of the vector i + 2 | + 2k at (1, 2, 0).
d=xy+yz+2zx & fow g (1, 2, 0) W @™
i+2]+2k @ o 7 sadd o= S BN |
If:
u=xyzi + xz2j — y3k

and v =3 —xyz |+ x2zk,

calculate :

o%2u 04U
at the point (1, 1, 0).
Ife

u=xyzi+ xz2j — y3k

3R v =x3 —xyz ] + x%zk,

ay2 Ox2

R fd=g (1, 1, 0) ST B |
Find :

i[ﬁ-(gxf)]

dt
A DIy

dr_ — _

a[a-(bxc)]
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Section-C / Yvs—TT

(Objective Type Questions) / (A& T)

Note : Section ‘C’ contains five (05) objective type
questions of one (01) mark each. All the questions
of this section are compulsory.
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Fill in the blanks :
WYWH%{%W:

1. div [Ex(t_)x(_:)]: .............. :
2. curl [curlﬂ] = e .

2
3 A
E
4. Alog X = .o
5. AL (X)) = oo,
X
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